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gesATdell 4.1

1. St AT T - faeafaf@d gfaara adistor § ar 8
(i) (x+1)°=2(x-3)

gol: (X + 1)?=2(x - 3)

>X2+2Xx+1=2x-6

>Xx2+2Xx+1-2x+6=0

>x2+7=0

g GHEIUT, X2+ bx +c=0HF FTTH G |
. TE Ueh giaerd THEOT &

(i) X2- 2x = (-2) (3 - X)

gol: X2- 2x = (-2) (3 - X)
= X2- 2X = -6 + 2X

= X?-2x+6-2x=0
= X2-4x+6=0

g FHIRIOT, X2+ bx +c=0h FTH ¢ |
. TG T GITd FHIEHOT ¢

i) (x - 2) (x + 1) = (x - 1) (x + 3)
gel: (X-2)(x+1)=(x-1)(x+3)

S XP+X—-2X—2=X>+3x—-x—-3

= X%-X-2=XxX?+2x-3

= X2-X-2-X2-2x+3=0

=2-3x+1=0

=>3x-1=0

g GHIGOT, X2+ bx + c =0 h FTT H T8I ¢ |

(iv) (x-3) (2x+ 1) =x (x + 5)

gol. (X-3)(2x+ 1) =x (X + 5)

= 2X?+ X — 6X — 3 = x?+ 5X

= 2x?>-5x-3-%x2-5x=0

= x?>-10x-3=0

qg THIRIUT, X2+ bx +c=0Hh TTH G |

. TE Ueh giaeTd THEOT &




YouTube Channels: Maths 24 X 7 By R. K. Paliwal Sir o Maths 24 X 7 By Paliwal Sir

www. mathspaliwalsir.com

(V) (2x-1) (x-3)=(x+5) (x-1)
gol: (2x-1) (X-3)=(x+5)(x-1)
= 2X>-6X-X+3=x?-Xx+5x-5
= 2X?-7X+3=%x*+4x-5

= 2X?-7X+3-x?-4x+5=0
=>x?-11x+8=0

Tg GHEOT, X2+ bx +C=0H TTHE |
. TG T GITd FHIEHOT ¢

(Vi) X2+ 3x + 1 = (x - 2)?

ol X2+ 3x+1=(x-2)?

> X2+ 3Xx+1=x%-4x+4

> X°+3Xx+1-x2+4x-4=0

= 7Xx-3=0

g THIRIOT, X2+ bx + c= 0 h FTH Aal ¢ |

(vii) (x + 2)3=2x (x*- 1)

gol: (X + 2)3=2x (x?- 1)

= X3+ 234+ 3.x.2(x + 2) = 2x3 - 2X

= X3+ 8+ 6x2+ 12x-2x3+2x=0

= -x3+6x>+14x+8=0

= Xx3-6x2-14x-8=0

T THEOT, x>+ bx + ¢ =0 Hh T H oAel ¢ |

(viii) x3- 4x%2-x+1=(x - 2)°

ol X3-4x%-x+1=(x-2)3

S x3-4x%2-x+1=x3-23-3x.2(x-2)
> X3-4x2-x+1=x3-8-6x2+ 12X

> X3-4x2-x+1-x3+8+6x2-12x=0
> 2x?-13x+9=0

g GHIGIOT, X2+ bx +c=0Hh FTTHE |

. TG Teh G FHIHOT ¢
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2. frsrfaiea feafaat s gfaard @atell & &9 # HRUd SHifae:

(i) T AT TS HI &TThd 528 F31 He § | Talle T oaTs (HeT #) 3qhT
dAI5TS & G @ Teh 3T §| &3 TS T oS 3R Alsre AT et T 3aedadr
gl

gol: HIAT AR H{ES I IS = x m

». Tl T oeTS = (2x + 1) .

HIATHR TS I STl = 528 HI?

= TFTS xTISE = 528 #HY 2

= (2x + 1) x x =528

=2Xx2+x-528=0
L 2X°+Xx-528=0

31d: & 915 Rafy 1 gfaara A etor 2x% + x - 528 = 0, & ®9 & fAwd fhar aram
gl

(ii) GT SHHATIT LeTTcHeh qUITehT T I[UTTthel 306 & | & YUITeh FATcl et T AR

gl

gol: HIeT of foh S9N &F ereATcAe quiieh x 3R x + 1 B

A. t.g. x X(x +1) = 306

= X*+ x = 306

> X°+x-306=0

~X?+x-306=0

37aT: & 15 Rafy &t gfaama Teieor x2 + x - 306 = 0, & ®9 & AT fhar arr |

(iif) (=T T AT 3T 26 Y T31 &1 31 T 3 AV &1G SeTehl 3 (T H) T [UTDH
360 §IITT| § AGeT T AcTHTeT 3T AT el el |
gol: HIAT Ugel T Y = x AV
- 3HehT AT T TG = x + 26 A
3 ETeT &Te;, UgeT T 3T = x + 3aY
3R 3EH AT Y 3 = (x + 26 + 3) A
= (x +29) a¥
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A. t. q. 3 Y TG SeTehl 31T o I0TeThel = 360
= (X + 3) (X + 29) = 360
> X°+29x+3x+87-360=0
= X°+32x-273=0
W X2+ 32x-273=0
37T; &1 1S AT T gfaTd FHIETOT 2 + 32X - 272 = 0, & 7 F FET RAaT IR

gl

(iv) Teh ¢oT Ueh FHATST 1T § 480 Tohred b gl & &t &1 AT a1fey 8 femadiverer v
gIcH, ol 38 HATT &l I el H 3 T 3110 o9l | §H Sof & 1T T Tl of3TTed T
TALTHT & |
gol: §ol: HATeAT ¢of bl 31T = x foheil/aer
480 e TToiet # o AT =~ e/
oo T 18 31T = (x — 8) fhredi/erer
- 480 TRl Ttet 3 o FEy = — fpei/erer
480 480

A.t. g. :>_;7-+ 3=—

x—8

480 480
»3=222.29

x-8 x
_ 480x — 480 (x—8)
x(x—8)

= 3 x(x — 8)=480x — 480x + 3840
= 3x%-24x-3840=0
= x?-8x-1280=0

~X?-8x-1280=0
31 &1 378 Tt i fard Feiaor X2 - 8x - 1280 = 0, % & 3 fwrd e I

gl

=3
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ATl 4.2
1. AEfAf@d cfaard Tl & FoT UIEs garT AT HTIAT:

(i) x?-3x-10=0

gel: x>-3x-10=0

= X?-5x+2x-10=0
=>XX-5+2x-5=0
= (Xx-5)(x+2)=0
=>(X=-5=0AT(x+2)=0
=>X=53Tx =-2

- ST HHIRIOT & Hel g X = 5, -2 Ans.

(i) 2x2+x-6=0

gol: 2X°+x-6=0

= 2X*+4x-3x-6=0
=2>2Xx(X+2)-3(x+2)=0
=>(xX+2)(2x-3)=0
=>X+2=03T2x-3=0
:>x:—2?:|Tx:§

.-.aﬁmauﬁw%a\sr%x:-z,%ms.

(i) V2 x2+ 7x + 532 =0
gl V2 X2+ 7x+5y2 =0

= V2 x2+5x+2x+5V2=0

= x (V2x + 5) + V2(\2x + 5) = 0
= (V2x +5) (x +2) =0
S>V2x+5=0ITx+V2=0

_ 5 _
:X—EZITX—-\/Z

.-.a;%mamﬂwémg%xz%’, -2 Ans.

(iv) 2x%- x + %

gol: 2x2-x+%=0
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= 16x2-8x+1=0
= 16x%-4x-4x+1=0
=>4x (4x-1)-1(4x-1)=0
= (4x-1)(4x-1)=0
= (4x-1)=0A1(4x-1)=0
1

1
> X=-3YdTx =
4 4

(v) 100x?-20x+1=0
gol: 100%-20x+1=0

= 100x?- 10x - 10x + 1 =0

= 10x (10x - 1) -1(10x - 1) =0
= (10x-1) (10x-1)=0

= (10x-1)=03a1(10x-1)=0

1 1
= X =— AT X =—
10

10

.-.qﬁmﬁmw%@%le—z,l—z Ans.
2. 3GTEX0T 1 #H & 318 THTATT &l gel HhITAT|
(i) SileT 3R ST o arg ot [AATRY 45 & 8| &t o 5-5 e @l 7o, 3iR 379 33
arg fSdel &l § 3oTehT I[UTeAthel 124 &1 §F g T AT dledl foh 3o fohcdal v @
[ T T
gol: HATAT Silel o 9TH hdl hl FE&IAT = X
AT SiddT & UTH shdl ! G&IAT = 45 — X
Icdeh 5 AT @il & §TG,
STieT o Shdl T HEIAT= X — 5
Siad o shdl T J&AT = 45 —x — 5

=40-X
A. t. ¢ 319 35Teh Sl I OTheT 124 B
~(X-5)(40-x)=124
= 40x - x?-200+5x -124=0
= -x>+45x-324=0
= X?-45x+324=0
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= Xx?-36Xx-9x+324=0
=X (X-36)-9(x-36)=0
= (x-36)(x-9)=0
=>X-36=0ATx-9=0
=>X=36dTx=9

ST, e, Silel o &hd = 36,
arsadrh hd =45-36=9

T, JTE el & & = 9,

ar Shadr & & = 45 — 9 = 36 Ans.

(ii) Teh HER 3T Ueh et & o [Wellel ATAT el &1 Tedsh el
T Hed (¥ H) 55 H T Teh [&eT # [AAH0T fohT a0 [&ellet sl §&dm &l gers
q YTed HET & a3 g1 fohdll Teh feT, ol ATOT ST % 750 Y| g

37 &7 AT R 7T @it S T&ar ATT ST Igd ¢
gol: AT Ueh 8T & 910 310 [Q it dhr I am = x

sgfow, 39 foeT uds @als i 3cdree drerd = 39 (55 — X)
A. t. q. Tl & Scatee I Fel I = 750 30

= x (55 - X) = 750

= 55x - x*- 750 =0

= -x2+55x-750=0

= x2-55x + 750 =0

= x?-25x-30x+750=0

= x (x - 25) - 30 (X - 25) = 0

= (x- 25) (x- 30) = 0

=>x-25=0dTx-30=0

=>x=25TTx =30

T &1 & 3carfed f@elaT i g&ar ar ar 25 a1 30 geft] Ans.

3. &1 W&V ATl hiTTU foieTeht a7 27 § 3R T0TeTther 182 B
gol: AT Ugoll G = X

-'.Z‘,:\Elffmzﬂ-x

A.t. . & HEIT3T T 0TIl = 182
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= X (27 - x) =182
= x?-27x-182=0
= x?-13x-14x+182=0
=X (X-13)-14(x-13)=0
= (x-13)(x-14)=0
=X-13=0ATx-14=0
=>x=13AqTx =14
gHfIT, Afe Igoll HEAT = 13, A gl &A1= 27 - 13 = 14
1, Ife ggell JEAT = 14, o g@0 T&IT = 27 — 14 = 13
~F&ITT 13 3T 14 81 Ans.

4. 1 AN YsilcHeh qUlTeh FAT hifoTT, ToleTeh aaif shr AraT 365 § |
gol: AT of foh AR &F eeATcAs quiieh x 3R x + 1 8
A.t.q. TEITHT & Falt T JN9T = 365

= x?+ (X + 1)2= 365

> X+ x?+1+2x-365=0

= 2X?+2x-364=0

> X°+x-182=0

= Xx?+ 14x-13x-182=0

= X (X + 14) -13 (x + 14) =0

= (x+14)(x-13)=0

=>Xx+14=03Tx-13=0,

>Xx=-143rx =13

X = 13 [ =X Ueh YellcHeh qUIleh g]

G AT YellcHe qulieh 13 31T 13+1 = 14 §1 Ans.

5. Tsh HHIUT AT hT IelTs 38h YR & 7 JH A &1 I HoT 13 JAT g, o
3= Y §[SITT AT HITSAT

gol: ATAT GHIT FH3TST T TR = x TA.

. FHIOT 38T T 3218 = (x — 7) QY

FHRIOT FI9ST 7, §H =10 &

TR 2+ 33978 2 = ST 2 [ASATRY JHT aRT]

= X2+ (X —7)?=132
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= X2+ x%-14x + 49 = 169
= 2x?-14x+49-169=0
= 2x?-14x-120=0
=>x*-7x-60=0
= x?>-12x+5x-60=0
=>xXxX-12)+5(x-12)=0
= (x-12)(x+5)=0
=>Xx-12=03ATx+5=0,
=>X=12dIx=-5
X = 12 [ = 9&T ROTcHeh 61 &1 Fehcl]
« 3R = 12 AT 3R 3918 = 12 — 7 T = 5 FAT| Ans.

6. Teh $HER 3T Ueh et  fAReT deeam # fAee) & sl 1 cdleed HIdl g | Ueh
Y feaT I S@T 1T foF Wedeh 79T & 3cUTesT T e (F9 ) 39 feeT 3curfed
T3 T TEAT & 29[ A 3 318 AT| Tfe 37 e ScdTest T Fel oETT 90 TU
oY, o AT &3 hr T 3R Tcdeh 797 T ST AT HITAT |

gol: AT [ TAT aE3T hr T = x

Sk & T FcdTeeT AT = 39 (2 + 3)

A.t.q. 3cUTes Sl el AT = F. 90
2 X (2 +3) = 90

= 2x°+3x-90=0

= 2x?+ 15x -12x-90=0

= X (2x+15) -6 (2x + 15) =0

= (2x + 15) (x - 6) = 0
=2x+15=0ATx-6=0

=>x=_715?JTx=6

X = 6 [ “IeaTied aE3it i HEAT Shdel Teh HeilcHeh qUlTeh &1 Heell o]
. AT a3t & gear = 6

Jcdh JEJHHT =2 x 6 +3=15%. Ans.
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geATdel 4.3
1. AT efaard Heleuil & FHel T Fehid AT SiTolv| Iie arediden Hd ¢,
dr 3o @rall;
(i) 22-3x +5=0
gol: 2x2-3x+5=0
feT a7 FHIRIOT T ax? + bx + ¢ = 0 & Folell A I,
a=2b=-33Rc=5

- fafaerdent = b?— 4ac
=(-3)°-4(2) (5)
=9-40
=-31<0
. HHIOT & ARETAeh Hel w78l 8| Ans.

(i) 3x2-4V3x +4 =0
gol: 3x2-4V3x +4 =0
fET a7 FHIHIOT T ax? + bx + ¢ = 0 H Tolell & I,

a=3,b=-433Rc=4

~ fafaeras = b2— 4ac
= (-473)2- 4(3)(4)
=48 - 48

_ —(-4V3) £+0
o 2.3
_ -4V3+0

6

4340 —-4V3-0
& g7
6 6

_ -2v3 — —2v3
3 3
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(ii) 2x?-6x+3 =0
gel: 2x°-6x+3=0

f&T aTT FHARIOT S ax? + bx + ¢ = 0 F Telell e I,
a=2,b=-6,c=3
~ fafaFast = b2— 4ac
=(-6)*-4 (2) (3)
=36-24
=12 >0
-7 arearas 3R [feet §
X = —b +Vb? — 4ac

2a

_ —(-6) V12
o 2.2

6 +2V3
4

_2(3 £V3)
a 4

3+vV3 3-+3
2 2

- f&T ITT FHRIOT & el x = 3+2J3 3-V3 ¥ Ans.

! 2

2. [AFIfaf@d efaard @teon & @ 9cdeh & Tt k &1 Al AT HIfT, difeh 3eTeh
al SIeX {A 81|

(i) 2x>+ kx+3=0

gel: 2x°+kx+3=0

feT a7 FHIHIOT T ax® + bx + ¢ = 0 A JolelT A I,
a=2,b=k3Rc=3

<[ieh HeT A deh 3N FATT §

= fafdsFast = 0

= b?-4ac=0

= k2-4.23=0

> k?=24

= k = +\24

.k =#2V6 Ans.
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(i) kx (x-2) +6=0
gol: kx (x-2)+6=0
AT kx?—2kx +6=0
fET aTT FHARIOT & ax? + bx + ¢ = 0 F Telell e I,
a=kb=-2k3Rc=6
Yfeh AT aEdfden AR FAT &
= fAfdFasT =0
= b?-4ac=0
= (-2k)?- 4 (k) (6) = 0
= 4k?- 24k =0
=4k (k—6) =0
=>4k=0ITk=6=0
=>k=0drk=6
~ k=6[+k#0]
+ KFPTAGT 68| Ans.

3. T Ueh AR JTH ol ST SeToAl HI & FSTHehT oS SHeRT TSTS & Qe g

3R &%er 800 9T HieX 817 Ife &, dl 39T olea1s 3R diss A hifav]
gol: HTAT 37T o a7 T II8S = x Al
+. 3T o 19T T e TS = 2X HT
37TH & S19T &l &79%el = 800 F3T Hi2
= TETS x IS = 800 Hi2
= 2X X X =800
= 2x2= 800
= x>= 400
= x2-400=0
few 91T FHIeROT T ax 2+ bx + ¢ = 0 A Jolell il W, §H Il T &
a=1,b=0,c=400
- fafaerdeY = b2 - 4ac
= (0)>- 4 x (1) x (- 400)
= 1600 >0
:. T arEatas 3R oot gl &)
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. X_—bi\/bz—4ac

2X = 20 [ ~olaTS Y T FomcHS Aal i)
+. 37T o &7 T 9181 = 20 AT
AT 3T o §19T FT FF6TS = 2 x 20 = 40 HIeX Ans.

4. =71 Tt Tl wora &2 afe &, A 3eTeht ATt 3y AATa hiforw | & fa &
31T 1 31T 20 Y | TR @Y Tgel, 81 H 3eTehl 3T T J0TABT 48 AT|

EoT: HIAT Teh TAT 1 3G = x a¥

- @R T &1 3 = (20 — x) a¥|

TR Y Tgel, 6ol (77 &1 3 = (x — 4) ¥

U7 GEX fAT I 3T = (20 - x — 4) = (16 — X) AW

A. 35ThT 3T T I[UTThe = 48 aY
= (x-4) (16 - ) = 48

= 16X - X°- 64 + 4x = 48
=-Xx°+20x-64-48=0

= -x2+20x-112=0
=>x?-20x+112=0

f&T a7 FHIHIOT T ax? + bx + ¢ = 0 @ Jelell el T, §H WIec glaT &
a=1b=-203Rc=112

- fafaeasy = b2 4ac

=(-20)?- 4 x 112

= 400 - 448

=-48 <0

~HHHIOT & ArEATd Hel 161 o
saferw gg Feufa Tera gt g

5. FT YRATT 800 m TAT WIHT 400 m? o Teh UTeh &l SoITeT GHT & ? Ife
g, dl 39T ofFaTs 3R diss A1d fifaw|
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gol: AT UTeh &l ol dTS = X AT
TIATHR YTeh T IRATT = 80
= 2 (SaTS + TisS) = 80
:>x+2ﬁ31§:82—0
= TS = 40- x
TAATHR YTeh T &1l 400 T H2
= TFTS xTISE = 400 Hi2
= X X(40 - x) =400
= 40x-x2-400=0
= x2-40x+400=0
feT a7 FHIRIOT T ax® + bx + ¢ = 0 @ Jelell el W, §H WIec BIaT &
a=1b=-40,c =400
~. fafaeFaesy = b2 4ac
= (-40)%- 4 x (1) x (400)
= 1600 - 1600
=0

~HEIUT & arETdeh 3 THATT AT &

sgfav Rufa gaa gl
—b +Vb? — 4ac

2a

SX =

_ —(-40) £0
2.1

40 £0
2

=20, 20

~ 3TIATPR UTeh T TS = 20 HY
3R gt §1 TS, = 40 — 20 = 20 m Ans.




